28/09/2021, 10:59 P.G.GARODIA SCHOOL (I.CS.E.)

STD: X
SUBJECT: MATHEMATICS

Time allowed : One and a half hours ( inclusive of reading time )
All questions are compulsory
The intended marks for questions are given in brackets []
Select the correct option for each of the following questions.

Section A [ 16 Marks ] [16X 1]

1 point

1. If the number of rows in a square matrix is 'n" then total number of elements
in this matrix is

a)n b) 2n c) n? dyntl

1 point

2. Solveforx: —1<3+4x <23,x€eN
a) {-1<x<5} b){1,234} c){-1,0,1,23,4}  d){1,23,4,5}
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3. If the equation x% 4 4x + k = 0 has real and distinct roots, then

a) k <4 b) k >4 c) k =4 d) k =41

@ O OO

*

4. If (x —2) is afactor of x? — 7x + 2a, find the value of a.

a) 5 b) 5 c) 7 d) -2

OO @® O

*

5. The (n—1)"term of an A.P.is given by 7,12,17, 22, is

a) 5m+2 b)5n+3 c) 5n—5 d) 5n—-3

® O OO
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1 point
6. In calculations of Recurring Deposit Account, time is always taken in
a) days b) months c) years d) hours
O a
@ b
O«
O d
* 1 point

7. For anincreasing A.P.

a) d <0 b)d >0 c)d=<0 djd =0

OO ® O

https://docs.google.com/forms/d/e/1FAIpQLSdg8enBzyv935owtpfMcfwkMVNBolWgHphfolDd4xa_V9jnrw/viewform 4/15



28/09/2021, 10:59 P.G.GARODIA SCHOOL (I.CS.E.)

* 1 point
8. Find the fourth proportional to 3 , 6 and 4.5
a) 9 b) 7 c) 10 d) 12
0o -
O b
O ¢
O d
* 1 point
9. The solutionsetof 2x —5 <5x+4<11,x €Z is
a} {_39_2 } b} {09112r3} C} {_2;_110} d){—S,—Z,—er,l }

® O OO
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1 point
10.In APQR, L and M are the two points on the base r
QR, such that 2 LPQ = 2 QRP and 2« RPM = [’
< RQP. Which triangle is similar to APQL
alh i M R
a) APLM b) APQM c) ARLP d) ARPM
O a
O b
O«
@ ¢
* 1 point
11. Ifa:b = c:d,then a:c = b:d , is according to property of proportion
a) Invertendo b) Alternendo c) Componendo  d) Dividendo
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1 point
12. In Goods and Services Tax, Goods do not include
a) Money and property
b) Property and Securities
c) Money and securities
d) Money or securites
O a
O b
o -
O d
* 1 point

13.Given x € R. The solution set representing the following number line is :

T —p——t—>
-3 -2 -1 0 1 2 3 4 5
a) {x:x<2} b) {x:x =2} c) {x:x<2} d) {x:x >2}
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1 point

14.Find the quadratic equation , whose solution set is {3,5}

a) x2-8x+15 b) x> —8x—-15=0 c¢) x*4+8x+15 d) x*—8x+15=0

® O O O

1 point

15. In a unit matrix , each of the diagonal element is

a) 0 b) 2 ) 1 d 3
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* 1 point
4a+5b 8 .
16. If == ,thena:bis
4a-5b 7
a) 75: 4 b) 4: 75 c)2:70 d)70: 2

* 2 points

Section B [ 12 Marks ] [6X2]

17)Find the value of 'p', if the following quadratic equations have equal roots :

4+ @P-3Nx+p=0

a) p= -9 byp=1 c)p= —90or—1 d)p=9orl

@ O OO
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2 points
18)Find X if ¥ = [f i] and 2X + Y = [_13 {2}
ox=[h 7 mxe[9 4] ol T o[ )
0 -
O b
O c
O d
* 2 points

19) If iiiijzzé,findx:y
a) 5:1 b) 1:3 c)2:3 d) 5:3
O a
O b
ON:
® ¢
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* 2 points

20)What number should be added to 3x* — 5x% + 6x so that when resulting
polynomial is divided by x — 3, the remainder is 87

a) -46 b) 14 c) 34 d) 46

O OO @

*

2 points

21)Mrs Goswami deposits ¥ 1,000 every month in a recurring deposit account
for 3 years at the rate of 8% simple interest per annum. Find the interest.

a) ¥ 3,245 b) 4,440 c)¥5054 d)T 1,150

O O @ O
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* 2 points
22)In the given figure AB and DE are perpendicular to BC. i
If AB=6cm,DE =4 cm and AC = 15 cm, I
calculate CD ;
a) 7.5 cm b)18cm ¢)10cem d) 12cm
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4 points

Section C [ 12 Marks ] [4X3]

23) A customer purchased following items from a store.

Srno | Item List price in ¥ Discount GST
1 Cosmetics 500 10% 12%
2 Medicine 120 5%
3 Battery cells 230 % 12%

i) Calculate the amount paid for the medicine (including GST)

a) T126 by ¥120 c) T125 d) T 114
i) What is the price of battery cells after discount ?

a) ¥12.50 b) ¥262.50 c) T237.50 d) ¥ 230
iiily Total GST paid to the state government is

a) ¥ 100 b) T 44.25 c) ¥ 88.50 d) ¥ 29

iv) Total amount of bill is

) R 870 b) X750 c) 2896 d) 820

a b c d
) ) O O O
i) O O @ O
i) O @ O O
v) O O @ O
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4 points

24)Forthe A.P. 1,713, ........ 115

i) If115is n*" term, find the value of n.

a) 15 b) 20 c) 12 d) 10

ii) Find the 5" term of this A.P.
a) 22 b) 17 c) 25 d) 20

iii) Find the sum of this A.P.
a) 1160 b) 1150 c) 1100 d) 1120

iv) Find the 10" term from the end of this A.P.

a) 55 b) 61 )67  d)73
a b c d
) O @ @) O
i) O O @ O
i) @ O O O
v) O ) O O
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4 points
23) A shopkeeper buys a certain number of books for ¥ 960. The original cost
of each book is T 'x'.
i) How many books were bought by the shopkeeper?
x 960
a) ﬁ b] T c) x d) 960
i) If the cost per book was ¥ 8 less, the number of books that could be
bought for T 960 would be 4 more. What will be the cost per book in
this case.
a) T(x+4) b) ¥ (960 — x) c) I(x —8) d)T(x +8)
iii) The equation for the above problem is
a) — - 2=4 b= 2=4 = =8 8- ==
x—8 x x—8 X x—8 x x x—B
iv) What is the original cost of each book ?
a) ¥48 b) ¥ 30 C) 20 d) 225
a b c d
) O @ O O
i) O O @ O
i) @ O O O
v) O O O @
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